
CP Physics     /10   Name: _________________ 
Unit #1: Trig  Wkst C       Date:  ______________ 
 
 
Solve each of the following using Sin, Cos, and/or Tan.   Show your work on another sheet and attach.  
 
 
     
  c          600         y      y =                             2 pts 
       
           300          c =                             2 pts 
 
                             X = 20 cm 
 
 
 
 
 
  c                           700        y = 8 cm     x =                            2 pts 
 
          200        c =                            2 pts 
                                    x 
 
 
 
 
       c = 18 cm 
 

           =                  2 pts 
           
    

         
 
                     X = 12 cm 
 
 
 
 
Bonus: 
                                                                   c = 35 cm 
 
            a = 20 cm 
 

                        =                  1 pt 
 
                                   x = 20 cm  
 



Answers:   
 
 
 

 y = 11.55 cm   x = 21.98 cm     =    

 

            c =  23.09 cm   c = 23.39 cm                                     =   


